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6. [4 pts] Suppose You know that W is in ker(B)

1
, and you also know that BV = (2) . Use this
3

information to find B(37 — 2V).
BBi)~ 8 (2) - SBWw-2bV

) \ l

y 0 Z[;] )

7. True or false (circle your answer: no Justification needed). In all of the problems below, A4 is
chig ﬁx\q}square matrix. |

[y “—

(a) [2 pts] If A is the coefficient matrix for some linear system, and rank(A) = n, then the
system has a unique solution.

TRUE ) FALSE

L e T M

(b) [2 pts] If A is the coefficient matrix for some linear system, and rank(A) < n, then the
system must have infinitely many solutions. pr ro ol ho on

R, .
TRUE CFALSE |

(c) [2 pts] If A is the coefficient matrix for some linear system, and the system had a unique so-

100 --- 0
01 0 0
lution, then the RREF of A must be precisely the identity matrix Ly = 0 0 1 0
0 0 O 1

FALSE
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5. (a) [2 pts] Write down the 2x2 matrix for rotation by an angle 6.

(
(1350 ~—Jnd I
§in g co8 0 T

(b) [2 pts] Use the determinant to show that this matrix 1s invertible.

(c) [3 pts] Explain geometrically what the inverse matrix should do, and write the inverse
matrix down.

("-_ 7 T _ . _
et cally. He merre  sould yobake T by an dn4le 6

e bpeiike O (clc {"-W”):

voeL [4TY L et and
| - | |
t(n) |-c« L Lt cose
—
TS0 sing
-ond  cost
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4. Suppose you know that 4! — G D and B-1 = (;1 ;)

(a) [6 pts] Find (AB)™1,

- -l .
(h3) = B A e
-1 | y D J
L 2 ZXx ) -.:__ L
o g —-*24{::""
LIS vt 2] e <2

B 5
\ o “ |
‘:} r__, iﬂ"’f P
! | 2 -t
? - g ( 2 8 | p J
’ (:-1" ) 1%)01) [_1 ™
r \
oy /
D = - | 2 -\ 1 /S' 3
= - | |
) 5 T k e /s

(c) [2 pts] What was the rank of A? (this should require no computations)

o

Oct. 23, 2017
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U
0,

13

5 pts] Consider the following matrix
}‘ {' (a) - A X
Circle all of the followmgm vectors w
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—4 1 3
2‘ 6 pts] Is the vector 1—; — -—3) a linear combination of the*vectors v = (O) and W = (1)
2 1 A1

a ' | -_> -
? If so, write down the linear combination in the format b = c1V + caW. If not, explain why

Vo | (T 0 -2 ¢ 1 (0 © 0
Ci = f - N g N
IR N V!
r.- (1 =-3 ©
=4 3 - h -
YY1 e | 3 7| Vles b g
#21_; e | ‘ -
G \ineaY comho
- N i | <
)*"'U_J' [ so- a4 [ =Y = - V oand &
P - |~ ]~ '
3 J | 0 - 3 | | \
_3 ¢ -3 ) L2 -
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—

1 4 -2
Az(l 4 —-2>

Recall that A corresponds to a linear transformation T'4.
(a) [2 pts] What are the domain and range of Ta? [bpgn v (p ) Ramaqe, < Jw //1‘)

1. Consider the matrix

(1) 4,

(b) [2 pts] Describe the image of T4 as a span of vector(s).

..g\} ;-n.. ¥_..,. f E |
& fu L ! ¢ L v} - - : o ]

(e [Moons roy . o Inme  UVPoravee M Is O
Thar Af- ~' , | A L rnal MLk A
N N onfy o Wovepter . (pe we (Ul (Qnnve ArRe €

/
|
Diono (.')1,{" V.5 B ¢ A Y™
>
F= X
) -
! -ﬂ/".ﬂ‘"
114____—"‘"—
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STUDENT NAME: (:hnﬁ'm\ Khdnauw IR

STUDENT ID NUMBER: ___ 804789218 -

DISCUSSION SECTION NUMBER: - Dyc 2 00O O
E Directions

I Answer each question in the space provided. Pl
: all of your work—your work must bot '
' No books, notes or calculators are allowe

evaluations when it is possible to do so.

d. You must simplify results of function

For instructor use only

2 3
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